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<?

Sum=0 ; avg=0;
Countodd=0;
For(i=1 ; i<100;i++)
{

If i%2==0then
Sum=sum+l ;
Countodd++;

}
Avg=sum/countodd;
Echo sum, avg;

>

<?
Farray=array(“y”,”s”,”d”,”h”,
Foreach(farray as Svalue)
Echo Svalue;

>

<?

Strname="zahra”;$

Echo strlen(Sstrname);
Echo strtoupper(Sstrname);
>

<?

Function Calcsum(Snumberl,Snumber2,Snumber3,Snumber4,Snumber5)

{

Sum=Snumberl+Snumber2+Snumber3+Snumber4+Snumber5;

Echo sum;

}
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<?

Sum=0 ; avg=0;
1=2;
While(1<100)
{sum=sum-+I
I=i+2 ;
tavg=sum/i-1
Echo sum,avg;

>
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Function alcmax(Snumber1,Snumber2,Snumber3,Snumber4,Snumber5);
{

M= max(Snumberl,Snumber2,Snumber3,Snumber4,Snumber5)

Echo m;}

Snumber1=10;
Snumber2=5;
Snumber3=4;
Snumber4=6;
Snumber5=8;

Calcsum(Snumber1,Snumber2,Snumber3,Snumber4,Snumber5);
calcmax(Snumberl,Snumber2,Snumber3,Snumber4,Snumber5);
>



